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- -■ 'i l . A square transparent sheet with a pattern 
is given. Figure out- from amongst the \ 
four, alternatives as to how the pattern 
would appear when the transparent sheet 
is folded at the middle line shown.

fi-fif1 1
^  ^  WvFTPt

Question Figure / 5TCFT Sh l̂ct :•

Section-A /;3TFT-3T 
Mental Ability / f  •

5. A clock gains 15 minutes per day. It is
set right at 12 noon. What time will it
show at 4:00 a.m., the next day ? .

• ^  trft 15 3TFt Wscft% I ^
12 % I f f r

"Lv  W f:.„4:00,'^.^ ? ,
(A) 4:10 a.m. (B)<,4:45 a.m. .

$;20a.m. (D) 5-00 a .n W ^

e\
6.

Answer Figures / :

oZ

® (A). (B) (C) , (D)
In a class of 60, where girls are twice than 7.

- - y *■. ■ 

• f-."'

the top. If there are 9 girls ahead of Mihir, 
how many boys are after him in rank ?
60 # sgf
|#TT ^ ^TR
^  t  i . arnt 9 l i

(A) 3 • - (B) 7
(C) 412 (D>23
What was the day on 20th December, 1985 ? ■ j 
(A) Monday , ; - (B) Tuesday ;• -
(C) Thursday : (D) Friday * ,
2 0 1 9 8 5 ?
(A f JffaefTC * (B)
(Q  IpTR r (D) ^ r r c  ;  ' : /

8.

v. '* and (4) can be formed from the. pieces

(l)v(2X (3 y ^ ,(4 ) ;3TTfM I : t  # 1
I :

XX)
(A) 1 
(C) 3

Select the missing number from the 
given alternatives : ’

• 11 \ 24 13 ? ■'
;• 8 ■ 12 10 : 10 ^

16 9 ■ ? 13
(A) 11,13 (B) 12,20 •
(C) 22,12 / >  (D) 9,13 .
Choose the figure which is different 
from the rest. "

3fl«i>fcl «j|ĉ l 3TÎ >fcrct$ 3W I1? I,

-

(1) (2)
A A )  (1 )
(C) (4) ■-

(3 ) ,:  (4) . 
- (B) (3)
■•v (D) (5)

(5)

From the given answer figures, select the. 
one in which the question figure is

; ,f*rai ̂ 3TffrfcT ^ W/Wi^fW

Question Figure: . _
; an̂ >fer: r

‘■NKF
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9.

10.

11.

12.

How many triangles are there in the figure ? i  is ,

> (A )1 2  (B) 16
(C) 14 (D) 18
A person moves in,north direction by 7 i 
km, then turns left and moves'by 4 km, 
again turns left and moves by 9 km, )

Here some words translated from an 
artificial language are given, 

slar means jump 
slaty' means jumping 
slarend means jumped 

Which word could mean “playing” ?
snsrr$3yctif$d T K l I w f  i 

' ;slar 3T2lfd jump 
slary 3T$lfcT jumping 
slarend 3 T ^  jumped ~

<hl 3 $  “playing” -H'hdi % ?
again turns left and moves by 4 km. How j 
far the person is from initial position ?
(A) 2 km (B) 11 km
(C) 13 km (D) 16 km j

onfm 3rK fc[7TT ^ 7 yieidi t., j
'. t  3 % 4 % tft:5fvRTT'|, |

p n : |  3 ^  9 £  «rrc; j
^ C fit 3 ^ 4 'M ^ I ? r i t  I j

?• \ ■
(A) 2 'W t (B) l l f o t f  |
(C) n M  t(D) 16%tff j

hi the following question, select the related ] 
word from the given alternatives : J
fertilizer : crops : : ? j
(A) teacher : education j
(B) tonic : body j
(C) chlorine; water . I
(D) pesticide : rats !

-5174 f ^ q f  3  t  j

? j
(A) :ftl8JT !
(B) : .
(e )aW t ^  : 'CTFfl’ '
(D) «QdHli*|cb : ^

How many numbers from 11 to 50 are i
there which are exactly divisible by 1 
but not by 3 ?•/- 1
11 t  50 %?Ffl WT1t| f  f̂l 1 $  |

: 3 ^  ^ f  ? j
(A)* 21 ; (B) 25 : - j
(C) 15 (D) 27 . j

(A) clargslarend (B) ellaclarg
(C) clargy (D) slarmont

4
. Assertion (A) : A mixture of salt and 

ice gives temperature below. 0 °C. 
Reason (R) : The salt raises the freezing 

, point of ice. ; ,
(A) Both (A) and (R) are true and (R) is 

not the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is 

the correct explanation of (A):
(G) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

(A) s sffc ^  fo m  
0 =FT C1IHUH % n t I

m m  (R) : I
(A) dtif (A) (R) f  Affr (R), (A)

, (B) ^Tl (A) 3Tk (Rj f  sfk (R), (A)
. % i

, (C) ( A ) ^ t ,  vf%T(R) TTvTcl t  j 
(D̂  (A) T O  t , vT̂ FT (R) ^  t  I

!. Arrange the words in a meaningful 
sequence.
1. Police 2. Punishment
3. Crime 4. Judge
5. Judgement

^  ?J5JT f  oqcrf l̂cf ̂  |
. i.gfcra ; , • 2.*r*rr
3 .31WT s 4. ^MTSfteT ' .
S .’f r f a
(A) 1,2, 3, 4, 5 (B) 3 ,1 ,2 , 4 ,5
fG) 3 ,1 , 4, 5 ,2 ,  (D) 5 ,4 ,3 ,2 ,1

« . . .

□ 3 ■■■ NKP
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16. Statements : Some books are pencils.
Some pencils are pens. 

Conclusions : I. Some books are pens.
II. All pens are pencils.

(A) If only conclusion I follows.
(B) If only conclusion II follows.
(C) If neither I nor II follows.
(D) If both I and II follows.

^FT : 'f>?5 f  I

' : I.. I
I I .^ ;^ T ^ c T f  I

(A) ■Jrfc[ ĉjcH P i 1 3 i ^ < ui =t><.cu f  I
(B) ^  )̂ct<rl Pl«h4 II 31 j.'HO'l t  i

. ®;(C) ^  ?  eft I 3Tk ̂  #  II cb<cii | |
■ ' ■ ( D ) . . ^ l 3 ^ I I ^ 3 I 3 5 p T ^ t  |

Directions (Q. No. 17-19) : Read the 
following information carefully and answer 
the questions given below i t :
G is the mother of F, who is the spouse of D. 
M is the daughter of D, who is the only brother 
of C. E is the son of G, who is married to H. A 
is the niece of C, who has no sister and is 
unmarried.- T is the father of D and has no 
daughter. V is the sister-in-law of F. G has 
only two children. M is the granddaughter 
of O. .

17-19): cFr.iqH^cb

G, F ^  t ,  D <£t w ft t  I M, D € 1 t ,
^fre * n i t  i e , g  ^ t 33  I ,

I A,
^  t  3fft 3Tf̂ TT%T | | T, D ftcTT | 3TtT

35ft wff 1 1  y , F w ft 1 1 g  %
S I M, 0 ^  #  !  I

17. How is V related to M ?
(A) Paternal aunt (B) Maternal aunt
(C) Sister (D) None of these .

•(A) ^rmt . (B) w ft
(c )  ^  : (D)

18. How many female members are there in 
the family ?

f ' ? '
;  (X) 7 (B) 4

(C) 5 (D) 6

n k p  ■ '

19. Who among the following is the sibling 
of F ?
PinfciRaci f  ?

(A) G (B) H
(D )E(C )  v .

Directions (Q. No. 20-22) : Eight people of. 
which A, B, C, and D are women and P, Q, R, 
and S are men sit around a circular table facing 
towards the centre. None of the women sit as 
immediate neighbour. A is not facing B. Q, 
who is immediate neighbour of G, faces P. R is 
immediate neighbour of D but mot of C. D 
does not sit second to the right of C. At least 
one person sits between A and R.

(ST.?. 20-22) : 3TI3 o4frh t  A, B, C, 

sffc D MflviiH I  ‘sfa p, Q, R, sfft s 3^  f ,  33>:

ji)dl=hK % W t 3Tft ^  3TR W  

I  I ^  TI%fT

t  I A ^Tg^ B^STkrTf | I Q, C^ > T PlebddH

1 R ,D ^ r(te cW

3 ^ ^ 3 1 1  I A 3^R%#5T%iTt^Tt?3iP4iTF 
#3T| I

20. Who is sitting to the immediate right of S ?
? ' ;

; (A) C . : \B) A " " ' ' •
(C) P ; (D) Q ;

21. Who is. sitting in front of B ?
. B%FrW^^>Ff't3T'|?

(A) D (B) C ^
(C).S V  (D )Q  .

22. How many people are sitting between R 
. and C if counted from right of R ?

r  % ■ #  $  M  ^  m  r  3^ : c  %

Phd'l ozrfrR ̂  f  ?

(A) 1 (B) 4 '
(C) 3 (D) 2■ • & , . . . . .  ,

□

■'S
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23. Find the missing figure in the series 
from the given answer figures.

trR  3n<£$mi 3  FT Ĵ IrTT 3  cJH 
3il<J)Rl w  <£1^ 14, | :
Question Figures :
3RR3TTfM

© © © ?• ©
Answer Figures : 
r̂R31l^>frl4l :

© ©
•-.(A) ; ; (B) (C) (D)

27. Select a suitable figure from the Answer 
Figures that would replace the question 
mark (?) :
3rR ^  3TTfft F̂T

ĵfr "SRRcTTRR) 1 ( ? )  ^1 

't i l ' l l  :

Question Figures :

5RR3n^frRTT:
• • •

/ K <
9
•

(a) (b) (c) ; (d)
Answer Figures : ;

24. Which number would replace the 
question mark in the given series ?

• eft 3  1%1 %  ^IR  TT

2 ,7 ,1 4 ,2 3 , ? ,47  ■
(A) 28 (B) 31

' : (C) 38 (D) 34
Q

25. If in a certain code language SECURE is 
coded as ERUCES, then how is SALINE

• coded in that same code language ?
^  f^ ft ftf^ld RTCT 3  SECURE F̂t 
ERUCES % ftRTRRT |, eft

. *TRT 3  SALINE ^  %% ^ f g
f«h<ll 'Jliy,, ll ?
(A) SALIQE (Bj ENILAS
(C) EALINS (D) ERUCES :

26. If GIVE is coded as 5137 and BAT is 
coded as 924, how is GATE coded ?

. ■ ^  GIVE 5137 ¥  ' f  ^ f g  1%RT
W  | 3lk BATRTt 924 % m 3  ^ ^ g  

TRT eft GATE' %3 «£>£«! «g "f̂ RT 
RTRTT ?
(A) 2547 (B) 5724
(C) 5247 (D) 2457 . ;

s n f f M :

\  • /  * /  •
> < \  *

x  • x  • V  • N  •

( 1) (2) ' ( 3) (4) (5)
(A )(1 ) . > (B )(2 )

. . (C) (3) (D) (4)

28. Which of the following diagrams 
correctly represents, the relationship 
among Smokers, Bidi Smokers and 
Cancer Patients ? - "
finRifed 3 3  ifR  rt «$r r

# 1  ■Rt 3  /gSlfcTT f  ?

NKP
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29. Directions : In this question three 
statements followed by two conclusions 
numbered I and II have been given. You 
have to take the given statements to be 
true even if they seem to be at variance 
with commonly known facts and then 
decide which of the given conclusions 
logically follows the given statements. 
Give answer.
Statements:
i. 0% frocks are pants.
ii. All shorts are frocks.
iii. A few jackets are pants.
Conclusions :
I. Not a single pant is shorts.
II. A gcfod number of jackets are not 

frocks.
.(A) If only conclusion I follows. .
(B) If only conclusion II follows.

: , (C) If neither conclusion I nor II follows.
(D) If both conclusion I and II follows.

: W  SW 3  tfk oBSpT 3ffr
3Tk II IcR rro; f  | 3TTW1 Tpr 

: TTSqf
$  -STcftcT #  3ffc ft*. cR %  %  
^  PIN*0*! ¥ T d l $ > d V ^ q
$  t  I 3fR <{1^ I

A f S R ;:

i. I
ii. Wft JilT  ̂Sb'N; f  I
iii. f  I 

:
I. |

II. I

(A) I ^ xT lt I
■(B) ^ % ^ r i ^ f i i 3 i 3 ? r w w T t  i
(C) ^  H Tit I 3Tk R t l  II 

' ; 0 W T |  I

(D) 1 I I ^ f r  ,1

I 30. Find the missing term in the following

P in fo ld  w  :

\ J  /
^ > 1 5

\ E  /

V 7 < k

J > s * ' 2̂ < s/  ? x

(A) M 

°(C) Q

(B) Z 
;(D) S

31.

I

Directions : Study the following 
question carefully and choose the right 
answer :

Statement : Be humble even after being 
victorious.

Assumptions :

I. Many people are humble after 
being victorious.

II. Generally, people are not 
humble.

(A) If only assumption I is implicit.

(B) If only assumption II is implicit.

(C) If either I or II is implicit.

(D) If neither I nor II is implicit.

Pl<vfr • PlHptPsId * I

^K°IR : I. «T§cIRFT Icj'd’ifl Ifft %

I '

II. aTRRfc^TTFT Pray ^  f  I •

(A) ^ 1 3 j d P l f ^ d  | I,

(B) -^ % ^ T  WIT II 31dft%d | 1 

fc(C) ^^TTfn^T II aiviWÎ d % I .

(D) ^  ̂ 1 Tit I ^ H II 3TcTf̂ f%ct | I

NKP
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Directions (Q, No.. 32-34) . : Study the 
following information carefully and answer 
the questions given below :
Seven persons namely P, Q,; R>; S,' % U arid V 
like ' seven different fruits - namely Apple, 
Mango, Banana, Grange, Kiwi, Guava and. 
Strawberry. Each of them works in either of 

. the three companies TCS, Wipro and ITC with 
at least two of them in a company. R works in 
Wipro with the one who likes Bandria. U does . 
not work with R .P  works in ITC withbnly the 
one who likes Kiwi. U does not like Apple. T 
works in TCS with the One who likes Apple. T  
does riot like Strawberry. The one who likes; ■ 
Strawberry works with the one who likes 
Mango but not with R. S works with1 the one 
who likes Guava. S does not like Banana. Q 
does not like Apple.
,^%r(5TR. 32-34)/: Pi tolfislcl R i a l t o  Wjjfas

t o  t o r  to^ .R T Q ,' R,: S, T, IT k M -  
toPT-sTEPi srto i Rr , 3TR, to p , Rckt, ,

t o ' t o v f -  1 t o  R
R c to  t o  t o t o  TCS V Wipro t o  ITC R ^  
t o t  R t o  w i  ^  t  W iR f t o
t o f t  R f  1 r , t o r  t o t o  t o  t o  -r w
Wipro R Rto todT t  I U, R % t o r  toR-HiR 
w  1 1 p ,IT C ; R to to  eh t o t o t o
t o r  t  t o :  t o t .  t o  l  l u  to  t o t o  t o  1 i
T, t o  t o  t o  t o  t o ?  %. t o  t c s ,^  t o  
ÊxiT 1 1 T .to t o t o ^ t o t o  .t  1 r ? torF> Itot

t o t o  t o  I  ^  t o  t o ' t o ' t o . t o »  % t o  
t o  t o r  i  t o r ? r <% t o  t o  i s, t o t o - t o  
t o t t o r t o r f i  t  | s to  t o r
t o  t o t  r Q t o t o t o t o t o 1
32; Which of the following combinations 

represents the persons Working in Wipro ? . 
t o f t o c T  R  R t o  ET t o t o  Wipro. R
w i r  t o t o  t o r d l  t o  t o n  t  - ? 

s, R r (B). Q, V, R ; 
U,T,R_ ,  (D) R,Q ;

Which combination represents the 
company in which V works and the
fruits he likes ?
(A) TCS -Apple (B) TCS - Banana
(C) Wipro - Guava (D) ITC SMarigo

’t o w t o s m
, t  1toR v^TFT.'^xrr | t o t o  to  w n t o

■ (A) t c s  - t o  (B) t c s - t o .
(C) Wipro - R t o  (D) itC  - RIH ;

%  ■ 1

W £t
irV*
■Ml

33.

34. Which of the following statements is true ?
(A) R works in the company in which P

; --works.: . .
(B) U works with the one who likes 

. Mango.
.(G);-. None of the given statements is true.
(D) S works in Wipro.

-j - to # rfe c r  t o r t  R R t o t o  t o t ; ?  ’ R ■■
(A) r  t o : t o t  R t o  t o  I ;  firaR, p

^̂ Rr̂ nxiT ̂  l v .  ; ; ;
(B) u 3ttr to  t o  to  tob %

; cbUl l % ■ : ; V
... (c?) t o t  i

( D ) ;S ,W i p r o t w t o l t  I; ■

Directions (Q. No; 35-37) ; ;  Shidy the 
following diagram and -try ' to answer the 
questions accordingly: . " :
i ^ C t o  35-37): t o c t o t o ® : W R t o T ;

Intelligent

Brave
;

Handsome r

35. ; Which letter among the following
represents; intelligent but not brave or 
handsome ?
to fto sra  ;R  R . t o ,  ht t o . g f to b  
Rftoi t o  t o  t o . t o r t o  ? :

36. P represents : ■ ' : ;
AT Intelligent only i  ; ; T
B) Intelligent arid handsome 
Ct Brave and intelligent ; >
D) None of these 1: .;:T

P t o n t  • v- 'l;T  , ;  . '
(A) t o r  t o t o  (B) i f t o i  ^  W

; (C) to'^CdriH(E)) t o  R t o t o -
3 7 .  " Who among the following is braye but 

 ̂ neither, intelligent nor handspme ?

■ t s f t t R' t t - t o ? :
< a ) q  (B) r  ;

;  (C) ,S ■ (D) V

/ s ) u \

“ v  ;
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: 38;; Select the related letter from the given I 
* , J alternatives. j

1 (A) ZXVT (B fY X W V  j
 ̂ ? (C) XVTR ; (D) WVSQ |

39. Which of the following . diagrams I 
, . indicates the best relation between j 

Football, Player and Field 7 |
... v. 3  w  arfei t o i f l  ark |

%  «f̂ ET 3 4 ^  -h4«T ?

40. Arrange the following words as per j 
order in dictionary : !

.^ 1  % s b ^ K  f

1. Ambitions 2. Ambiguous
3. Ambiguity 4. Animation
5. Animal .

42. If P denote ‘+’, Q denotes R denotes ‘i-’ 
and S denotes ‘x’, then 18S36R12Q6P1 = ?
r̂fc; P 3T*f *+’ t ,  Q m  R

, 3TSf S F̂T 3?2f ‘x ’ f ,  eft
18S36R12Q6P1 = ? >
(A) 115' V. (B)* 65 
(C) 55 , (D) 49

43. If North is Called North-West, West is 
called SoiithrWest, South is called South- 
East and so on. A person walks straight 
from South-West to North-East and 
turns left. Walks straight and again turns 
left. Now at what direction is he facing ?
(A) South (B) North-East
(C) North (D) South-West

w  c ^ l  ^

cjf̂ raT -'^  =F>?T vSTTrlT % 3Tk cPti? 3TI% I

BZffe ^fur-rrf^PT t ;  A
-(A) 3 ,2 ,'4 ,1 , 5 (B) 3 ,2 , 5 ,4 ,1
(G) 3 ,2 ,1 , 5, 4 (Ef). 3 ,2 ,4 , 5,1

'41. Select a suitable figure from the four 
alternatives that would complete the 
figure matrix. ■ V

. .. ^TR.i^qt 3  $  tjcr snffrr ^
Tjfr O T f f r l ^  ̂  I .

X ■>

J L I T
l

$ a - f c . ?•

(A) /  (B)

(C) (D)
<?

N K R '

% T f  ̂  -3TlT ' |  ?:

(A) ^ 1  _ (B) 3tR - ^

( C ) 3 tR (D)

From the following positions of dice, 
find which will come in place o f ‘?’ :

W t  f o r f e i t e d  $  W

%  ‘ 3TTC7TT :

Z 3 7 I  Z I 7 1  . 2 3 7 1

0) (ii) ^(iii) 
(A) 4 : (B) 5
(C) 2 (D) 3

j
~

1
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45.

48.

Select the correct mirror image of the 
given figure, when the mirror is placed 
to the right side of the figure. I

3rr^icr% 3Tft w r^rrait .1
Question Figure :

a r r^ fcf:

Answer Figures :

46.

47.

(B) • . (C) (D)
Ghoose the missing term in the given series : 
c M  ^ I c T T $ ; ■
KM5, IP8, GSl 1, EV14, ?
(A) BX17 (B) BY17 .
(C) CY17 . *(D) CZ17 —
Q is as much younger than R as he is. 
older than T. If the sum of the ages of R 
and T is 50 years, what is definitely the 
difference between R and Q ’ s age ?
(A) 1 year (B) 2 years
(C) 25 years (D) Dsata inadequate,
Q, R $  3R ft ^  W l l  'feRT ^  T ft 
^ r|  IRf^R3TftT^STl^FTftftT 50^  
t ,  ft R Q ^ 1 3TTg%#3
%cRT3ftRt ?. '
(A) l ^ f  (B) 2/mf
(C )  25 ^  y * (D )  a p r c f g w r  : 
A team of project managers needs to decide 
on the best approach for a new project. 
Option A is cheaper but has a higher risk of 
failure, while Option; B is more expensive 
but has a lower risk of failure. Which 
option should the team choose ?
(A) Option A (B) Option B 
(C) Both options (D) None of these

'■wfrsRi.3ra«raft^ 3m  f̂t .^F ^  
'WF5RT %-fc^ ĉfTdq ffectftTJT m  f rfa

3iioiwcri I f f e q  a  m m  t
wft l^bddl

tsT5[% fci'hv'i^B 3lf^F) H|Jll 1| 
fc|M»Cldi RR 'ji'lfisiH RvR ft I, <£ftr Rft Rfftf ftT 
fqebvM d̂d.l. ,

' ( A j f e  A (B) ■ffeR B  
( C )^ f t f ^ v q  (D)14ftftRftf4ftf

49. Following question consists of a 
statement followed by arguments.
You have to decide, which of the 

, arguments is/are a Strong argument and 
= which is a; Weak argument. . . ; • -V v -

; Statement : Should schooleducatien be 
, made free in India ? ' , r  

Arguments : f
I. Yes, this is the only way to improve 

the level of literacy. , ' -
II. No, it will add to the already heavy 

burden on the treasury.
(A) If only I is strong; -
(B) If only II is strong.
(C) Ifeitherl.br II is strong. : t
(D) If neither I ttor II is strong. ,;
PlHfcdR̂ cT 3HR ft W  W T  ^
trftj rpi | i OTTejft r?  m  | %  
RilR RT effti TR^cT ft

cT#> % Y ;  Y
s b r  : w  RTCcf f t  =fft t p s  R ft

. / r . \ yy
' . ;-■/ ' ■ f ii

V I. Iff* FTOT % Fdt ft ,^TR ef̂ ft WRftt
■ ■ ,.'r̂  ; ,
, II. me ft ftt Rrftfttn

°(A) i ; ‘; ' ;
•(B) =hc)d Il H'Jî d ft I v 'y  
(CX ^ R T ftt iRT i i f t^ c r t  r ; y  ■ y * 
(D) R ^ R ^ ia ftT R ^ IIR ^ T tM  ■

50. Choose the correct water image of the
given figure (X). • i-: *,
%  sri f̂cT (X) Rier j  
Question Figure: y

I

(X)
Answer Figures

(B) (C) (D)
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51.

Section-B/STPT-^f 
Teaching Aptitude / % ^ r  3rf^^T

' 5 4 .  The

52.

profession by______ .  ̂ ■
(A) Observing TV Prpgtammes 

■ (B)'‘'̂ isteim̂ g.to,'.Raictio. V"
(C) Working on Computers 

; (D) All of these
: 3 t e . M : %  3Tfc

' f e  - ^T^fhg^cn-I.l
(A) V
(B) - f':1; '. ,

sb<Hi y : ■

(D)

Micro teaching in B;Ed. for 
Communication skills'is necessary-
(A) For self-evaluatioii
(B) For completing course
(C) For development of various skills
(D) For page feed V - :
^r.pS. (B.Ed.) 3
% ffe  t e f t f  I

S3..

,55.

(A) ’ % f e f  , y‘
(B) 4k£M«vH TJ-CT % lf e  ^

'(C) Pî TcfT f^TRT ,
(D ) / V' . ;

Information . regarding National 
Education Policy' and related activities

more confidently you ^give 
> instructions! higher the chance of a 

positive class respbnse: is due to - .
(A) Use of Voice 1 .'-v-;.
(B) Use of Appropriate space
(C) Use of Body language
(D) Use of Skills . / 7 . :  V ' i
t e n  3 # $  3TfrU^j  ̂W % '3TN
t , - • • % , f e m  w W r a t e

■ . t e t e t e  3 c F f t # 3 7 t e t e  1 1
■ : (A) ' ;U  ' .

’ (B) 3f̂ icf 'Ŝ TR % e4UlJ I ;

; (C) W t e  t e  f e t e  .
.■ ■ (D) v ■
1 Good Teachers need

(A) Interpersonal Skills . ,
(B) Iiitfapersonal Capacity . /
(C) Both Interpersonal Skills and

i- Intrapersonal Capacity ;
. (D) None of these y

(A) 31<i&lfW UiNlcrt : - , ■■ ■/■
: (B) w te ^ P T d T  : •

(C) s i t e f t e f e M  t e  w t e  ‘.after
- © ’

56.

(A) Awareness of a teacher towards 
literature

(B) Political consciousness of a teacher 
. (C) Vocational interest of a teacher ' 
vtD) Earning potential of a teacher
'■‘■■teW t e r .t e u 3 f f t  %

^ ^ H c b l d  w f ^ lc n  t  ?;
 ̂(A) jrfcf W M i r
(B) 1 ^ ^  #  T t e t e t e T T

1 (C) Oitlcjy Î l«b t e  F
(D )

(D)

Ekcenent and effective communication 
( is characterized by following elements. 

Arrange them in a proper sequence 7 
1. Taking action ’ •: <

■2.; 'Noticing v : ’ _. : .
3. Knowing

’ 4. , Flexibility to change , ;
3^  t e t  t e s t e r  t e  ^  
t e w  I  i f e  t e r  t e  f e t e f e t e  i 
i .

. 2. .

. 3.1 *
,4.
(A)

,<+>lTcj |4 '*><•11

7 '
'MWU.l 1

1,2, 3, 4 \ (B)'*4, 3, 2, 1
2, 3 ,4 ,1  (D) 3 ,2 , 4,1
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57.
(A) capability and. proficiency'
(B) interest •
(C) need ■ " V •-
(D) mental state : : /

(A) SWcIT 3?fc Mcflu!Ol

58.

( C X ^ c l  
(D) TTR^i^lfcr

Some students are absent from, your 
class but: not from the classes; of other 
teachers. What will be your inference ?

are scared of my hard temper.
(B) Will think students are mischievous 

and will leave them.
(C) Will try to find the reason of their

(D) None of these ' ; " '
t o T O # t o t #  f  # # t

T O  % 8 |T #  #  T O T #  #  . # f # " : T O ^
9

(A) ^  UNcfciTg# frpT O jfr
W'HN 1 ' . V 1 r|

(B) f  3ffc 3-i I

60. ~; •; ;J;-- - abilities determine the 
. performance of a wide variety of tasks.

(A) Cognitive . ; : • . ; -  .
(B) Affective L ‘ - : .k,.
(C) Psychomotor ' •'
(D) Manipulative. / f i V /

. ■ • ' ; V  T O #  W lH  STO % TOif %
- W t f  i •

• ̂ A) W H IFH  -  (B) TOTTOT
(C) # T O tT O  (D) T O -# ?

61. Showing .care for students refers to use
of teachers’ . ; .
(A) Appropriate Methods
(B) Behaviour . ,
•(C) Aptitude
(D) Attitude and style

TO l#% gTO TTO T - a!
%  3 M # I  #  T O T T i  1 '5 :

■r (A) (B ? ;
;,(c ^ # M T ; (D) TOfftraffc-M

62. Teacher as a leader convey convictions 
about a better world by
(A) Contributing to an image of 

v ; teaching as a profession that makes
j,- a difference. ..V '.v~ " - v,y :

(B) Showing genuine interest. in 
student’s needs and well being. • '

59.

TOT

(D) .

What is the use of home work ?
(A) The student could study at home.
(B) For development of student.

TO disadvantaged and marginalized 
sections of society.

(D) Acting ;■ on opportunities to 
emphasize accomplishments and 
high expectations. ; f

t^ »  T O  %  #  % T O

■(D) "'To develop writing skill. ; 

(A) W3
(B) 551̂  % 1eRvRT % ■f^ ~
(C) *TO #  TOTTO % -fcTXT
(D) TOFT

IT

3 6d< $\i\ l%^ft^'fc|?cfraoilTb TO'cl f . I
(A) t3«F #  # 1 $ #  #  ^

,  4f)J|dH # T  #  T ^  T O  T O M  |  I ;
(B) T O  #  T O #  T O  T O l f  TOrfTO
;  1 v .  ; -
(C) % fTO feRtw $  «iltid sfk

w m  %  %  % q;w  # tt i

( D )  T O r f ^ F f f  }$ $  t o  m  %
3 T # C f ^ '^ W T r  " '

• NKP

o
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63. Parents of are keenly interested 1 65,
in knowing what makes their children 
tick and how teachers can help them 
make good Choices.
(A) Children
(B) Under 12 children
(C) Adolescent
(D) Youth
_;____ % T̂TcTT—f̂ cTT ^  TT t̂

■ f  1̂ v33% eRsTt 3T̂ 5T

dual 3Tfa ddl'l

« (A) ^

(B)

(C)

, (D) -

64. Every teacher should mandatorily have
the knowledge of child psychology
because it -
(A) gives the teacher an introduction to 

.'.student’s behaviour.
(B) helps the teacher in understanding 

the feelings of mind and heart of the 
students.

(C) helps the teacher in comparing and 
identifying students.

(D) makes teaching work difficult.

(A) ^  WR % ê T trfbeR

■ ' *  .. I
(B) W3\ % %TFT sffc *n=HT3fr ^

W T t  I
(C) fSTWt dCH I 3fft 3

ê t F̂ RTrfT ̂ RcTT "I I 

. 1 (D), f̂ TSUT Rvpf shfcJd «H id 11 I

I .

66.

Which of the following learning 
materials is suitable for. students with 
partial vision ? - .
(A) Three dimensional maps arid charts.
(B) Small sized printed worksheets.
(C) Information given by speaking, 

tactile notice boards (Braille).
Large sized printed book.

f t i m  W R f t  3 T T t e  
c(l<rl■sj,w T % 3 T O i |  ?
(A) # T 3 T R T i f l ^ l3 ^ ^
(B) 3TT5FR % "gf̂ cT
(C) ^ R T  R ti 1K1 $  M  

p \ j i m i O  ( t d )
(D) itSTRiR-gf^cT

teachers know that they have

67.

areas, they need to work on, and they 
want to improve.
(A) High will, Low skill
(B) High skill, Low will
(C) Low will, Low skill
(D) High will, High skill ' .

RR% f  %  33% TRT 
f  fjR  TT 3 ^  RTR 3TR̂ R5cTT t

3ffc %^mRR3TRT?|^f I 
*(A) 3^T 3^5T, mklcl
(B) 3W 3x0it
(C) 3m t «^t, ^

'■■(D) 3 3  -̂coi, 3 3  ehl'̂ id
The four principles of effective 
instruction are as follows. Arrange them 
in a proper sequence .
1. Expect to get them and support 

them along the way.
2. Start where your Students are and 

know where they are going.
3. Use feedback to get them better,
4. Focus on quality, not quantity.
Jpreft ■focRT % ’em: %§TrT w  3R7Rf I 3 if
3 ^ 3 ^ ^  | 'r
l . 33$  37̂ -̂ rr arh: irc% %

333rw f3% 5t i
^  RifT 3TT3% t$R f  3Tk 3fl% 1% 

f  ̂ TlTTTtf I
3^t %TT «RRt % 1cTtr sfofsFRT 3T. 
3 3 % % * I

RRT3T% I
' - ' * “ " 2, 1 ,3 ,4  , ..

4, 3, 1,2 ^

2.

(A) 1, 2, 4 ,3  
(C) 3, 4, 2,1
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68. Academic part of. Education at School J 71. 
level is controlled by - |
(A) University . Grants Commission !:

(UGC) . ; ' I
(B) National Council for Educational 

Research and Training (NGERT) r
(C) National Institute for Educational

Planning and Administration j 
(NIEPA) j

(D) National Council for Teacher j".
Education (NCTE) j

TrR ̂  W &FB *1FT % J 
■gin Pm i aren't ?. j
(A) ie lW N W  3Tr#T ( ^ M )  j ..
(B) iT^r M &z ark s fe im  |

(t^T3Tl
. (D) %STT % ! 72

( W W )  - ' |

69. A teacher can enjoy teaching as a j 
■ profession when he/she j
(A) gets respect from the students. 1
(B) ensures strict discipline in the cla.ss. j
(C) has better qualification than his/her j

colleagues. , j .
(D) is close to principal or vice j

chancellor. f
^ 3TRcJ |

/| tjjef'31U j 73.
; (£) | : , . j

(B) ^Tf fr M l  3t^l it)') '̂ PlÎ ci d <Md 11 I j
(C) fr ^ ? r; j .

i y - . ]•
(D)

70. styles of discipline provides
guidance. j
(A) Authoritative (B) Authoritarian j
(C) Indulgent (D) Disengaged j

• ■■■• 31 1̂ l*H M\>\<$U j
I ■ - |

(A) ^(B) UttMIcfl . j
(C) Y ^ >  (D) te lfo d  J |

■I will now explain to you how to play’ 
is _ _ _ _ _ _ _
(A) teacher talks about own teaching
(B) teacher’s response to action of the

, learners . .
(C) teacher actively shows learner what

to do ' .
(D) teacher explains a rule

U M F lsW II-fo

(A)
■ (B) f^TT % fyR ^

"srfc iter
(C) m  Tt ^ i d i

' . p '
(D) P)'<W
Looking down and not making an eye 
contact with the students is regarded as 
Showing-,
(A) Disinterest
(B) Fear or anger
(C) Nervousness * ,-
(D) Anxiety or tension -

^ tt 3Tft w f .  fr a rte  i  Fmctimi, 

: fd^Ml MHl w t | i ,
(A  ̂ ,3ref% ;(B)
(C) m i\$i , (D) ^fcTT^Tnrra

Co-curricular, activities are organized in 
schools so that in students -
(A) Feeling of jealousy increases
.(B) Collaborative working attitude is 

developed
(C) Inspiration' for getting awards is 

developed
(D) Respect towards the school increases
fckncri4! fr tt̂ t w rnfr f^rraff 
3h f e n . w M  "I, ?ni% WFTf fr

; (Aj ^  N iw  ^  i
(B) <^l fcIchfedfTWN, I
(G) 3<^5H m j  ^ tjfrrr

1 1
(D) ' ^ %  ̂ T W R ^ c l t t  I

Q ". ■ 13 ■ ' NKP
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74.

75.

76.

The most appropriate method of J 77. 
teaiching arithmetic at primary level is j
(A) Demonstration method j
(B) Play way method |
(C) Synthetic method [
(D) Equation method

t  , 1

(B) „ ̂  (Play way) , 1
(C)
(D) w torr-fW  j

j 7 0
The most important challenge for a j
teacher in the class is j
(A) making of teaching and learning
• process difficult . • j

(B) maintain discipline in the class' |
(C) complete syllabus in time j
(D) None of these j
^  «BSETT ]

- j
(A) 3Tfc ^  #  difed j

<HM.r I |
(B )  ̂ 8 P  3  «H 10, ̂ T T  I | '

(G) r  . j 79
(D) spr^drrf p?ff j

; ■' ■■■• If
Students asking questions in the class I
room should be ■ j
(A) advised meeting teacher after class j
(B) discouraged j
(C) encouraged s
(D) punished j

(A) eft I
r̂pft n̂f%xr i !

(B) fewil *IHI ^llf^ I !
(C) ®y)fyi%d 'JlHI -n f^ l j .
(D) '^ I  tsTRTxnf  ̂ |

needs the ability to touch with r 
one’s emotional state. \
(A) Intrapersonal Intelligence
(B) Interpersonal Intelligence
(C) Linguistic Intelligence.
(D) Logical Intelligence

'■ drl ■# ptertc*pf -fkrfcr
^  ̂  SPRIT 3TlW*>dl t  I
(A) dKwRch gf^qrll

a(B) q,Hannl
, (C) p m f Ĥshtii

(D) dlf^t) «jJ=SHTll

People who communicate and interact 
with one another is_____
(A) Structured Relations
(B) Interpersonal Relations
(C) Intrapersonal Relations
(D) Mutual Influence
sTt c#T tfqr % PT$T ■Hdiq «tld-=0cl

f , ’ d jv  ■ f  I
. (A) k̂f̂ cT

(B) ,3id^frbcb # J  '
(C f >fRFff<cb # 1
(D). TlWifk? W it

‘When you do a piece of work, you get 
a praise from teacher.’ This gives a sense 
of recognition which fulfils / -
needs.
(A) . Safety and Security
(B) Physiological & Biological
(C) Love and belongingness
(D) Esteem and Growth
■‘*I«r 3TP7 <$PT ^  f ,  dt 3TTWt krajPF

% ‘SPiraT'ftdRftf f ■^PFdR'#PTW%TT
I ^ ^ d P d T |  I
(A) WRTSfkliprr .

■(C) 'zrKarftSPkPT
(D) FCIR3#tf^RT

NKP ' 14 . ' Q C
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80. A group is not when
(A) people 'are not 

'common goal
(B) interact with each

v  84:
sharing their

toother
accomplish their objective t

(C) are aware of one another
(D) perceives themselves to be a part of

..group ; -■/*'£-£
^  ̂
(A) cfhT WTPT rTŜ T ̂  ^

\ T l i  I '£ £ .-■■■: ■
■(B) ^,T^F>

, ■ - %^ms|ld-=n'd I, £ 'v-
(0 ) ^ 1 ; '!

■ (D| Tp t  I

81. Delegation of work by ah individual is ;|
85.

82.

(A) Authority (B) Induction
(G) Recognition (D) Responsibilities

oqirfi ^TTIc+I|4jH £ t  j
(A) SlfNiK >
(C) TTFtraT.

(B)
(D) ;

83.

, - ’ conveys thoughts, feelings or 
ideas to others.
(A) Receiver , - ...(B) Encoder 
(C) Sender - .£ (D) Decoder
_______ _ f̂rpT3rf ^  mproTi

cRi ll^ ld lt  I ■
.(AfmH^rrf. (B )U
(C) ^  (D)

_______ exhibits self-confidence, self-
motivation, .demonstra.te sense of pride 
in .work assignments, receptive to new, 
ideas,, processes and people. :,£-■.
(A) Attitude . ' .. . \
(B) Ethics ■. - :
(C) Professional image
(D) Responsibilities- £:-;“

w t |, sttcrt , ft*
fcRKf, '5lf̂ TT3Ti sffc cfT*rf /% yfo 
.^ivflddl M d ^ ld ^ n t I . ..

' M '

86.

I
;.ji

87.

(C) ’ (d ) . I w)< ;M

15

deal with the central problem 
of teaching learning act. :
(A) Teaching-learning material ; .

£(B) Teaching-learning strategies and
tactics £. '£- : ^

(G) Use of appropriate audio-visual aids 
(D) Use of hardware and mass media 
_ _ _ _ _  3lftRTT fsF̂ TT eft V

^  PlMdri f  l . ;
' (A) F P # ,  , v l;£

(B) f w r  -
.(C>
(D) 6l$Uli ';£/’£

.. £■■■> is not a component of
teaching as a scientific process. :
(A) Content , (B) Communication
(C) Feedback . (D) Examination '

. , . ^  i.Plcb yrf^T % ^ q  3  ;
.£■■:£ ■■ -

£ (A) f y ; - ; U " ,
( c f  alcifjfi  ̂ (D) tAsst -

Good teaching is a result of £ ! '
(A) Teacher training ‘ : ' .

: - (B) Experience ■ - '. • ••
(C) Command over subject and good 

communication
(D) Friendly behaviour with students ;

| ? -  £££)££' 
:(A )6% ^ ^ m i? T :: £ ■ - : - £ w ; '
(B) 3T3^ \ .£ ;£ £ £ :

,£ ,(D) r m ^ n r f  ;.
In the class-room, the teacher’s role is , :
(A) Guide and philosopher ;
(B) Leader of the group
(C) Motivator£;••• £. ’ ‘ , ' £ • ■
(D) Only as friend * ££"£

* ^  |
. ,:(Af.Tri5S 3fk' <l#=b -:.V- 
' (B): Fn^%%T;. : -£:
( C ) ^ ^ £ .  ■■,_; ' . £ • .. .. '■
■(D) ^ .

• /  ;. ; . , NKP'"1. £
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88; As a teacher, how will you try to get rid j 91. 
of the social evils ? j
(A) By awakening public consciousness j 

..(B) By pledging for social reforms j 
(C) By publicity through posters 

® (D) Thinking that these social evils can
never be removed, so let them be.

.WteRi % w  ft srrc wnte ft. •
■ % f t R i f t R J T  W 5 T R ft f t  ?

(A )  ̂ R H ftW T  W T R R  ' ,

(B) w r i t e
(C) ftw ftrR T w rftp w iR i
(D) f t t e  f a  ir . w n t e  . w\ , 

Rlftt ^  Rftf faRT RTT WJcTT ft, ftt 3 ^  "
.W ftl 'l

89. The main obj ective of teaching is
(A) To use teaching aids to simplify 

teaching
(B) To complete the syllabus
(C) To facilitate learning
(D) None of these

(A) Rft WR .'̂ Rlft % fab; I
® wmm wuft w w i i i

(B) . |
(C )  |
(D) iRftft ̂  Rftf . .

92.

Teacher uses .. - that gives learner 
opportunities to show what they have 
learnt, and what they can do with that 
knowledge.
(A) Feedback ? • "
(B) Assessment
(C) Learner’s contribution
(D) Records

_ _ _ _ _  R>T 4>tdl ft R t

f a s n t e  Rft R f t e f t  w\ 3tto  ter t  fa  
t e i f t  w f t f a i  ft  a f a  f t  3 R W T  %  w r .R R i  
RR  w f t f t  I

(A) jrfftfsfiRT

(B) 3T1R)VR

(C) -%^l«ffR>lteR

(D) srfftte

What is the most important for learning ?
(A) Common sense
(B) Knowledge
(Cj Encouragement by teacher 
(D) None of these
f t t n f t  %  f a q  w f t  ^ fR ft w  ft ?

(A) w if r  w f t  - 

.(B) 11R

- (C)' ■

(D) fR ftft^ R fti'

90. Teacher will work in best interests of
by respecting, the diversity I 93* To which of the following will you give 

of the heritage, language, identity and importance while using teaching aids ?
Culture. |

■ (A) Parents (B) Society Y j .
«■ (C) Peers (D) Learners |

fa a p fi t e w ,  R M ,  RFSHR a f tt  W f f f t  j
te W T  m  f t t e  RRft |q _ _  ftl W ?W . j 
% r f t  . W T R t e i  i . ■ : -

• (A) WF-falT (B) W R
( C ) R i t e , . .  ( p )  t e t e  y ’j

NKP 16

(A) Price
(B) Student interest ; r
(C) Attractiveness
(D) Magnificence
fas  ̂ ww* wnft R5T T t e t e  Wft 
3 W  P jH fc ifa d  f t  f t  f a f t  ftft ? .
(A) ■ (B) teraFft .

(C )( 3 w f a * i  .. . (D) mm y
y . . .  . y d ;
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94. ,rThe- quality'of an education system and j 
;X.-;'.the profession of educators within a j 

' system depends mainly on the I
who guide and carry out most of the | 
tasks and activities of education that take \ 
place within the schools and institutions 
in the system.
(A) Principal (B) Vice Principal
(C) Teacher (D) Coordinator ,
■QcB ^ id r i l  t o  W e f t
% toT g?gq % - ,, ■

t o  t o  %  3 T fW R T  t o f f
■ 3ffc t o  t N ^ c i  f  t o

X X ' t o t o f t  a t o t o t o  % todi f  i , ,
(B) 3^-W RM iq^  
(P) T ltoraL

98.

(C) W afTW *

97.

95. All teaching is a combination of ; . v /  .
(A) Interest and readiness ,
(B) Readiness and abilities 
'(C) Capacity and readiness ;
(D) Skill and will

%  (A y '^ a lk  cTt t o
•i.-:: {B)

, (C ). sfk cfFTt̂ T
~ (D) f ^ r a i a f k ^ T  '

96. The major problem in attending Indian 
; rural schools to face global competition is

(A) Lack of good teachers
(B) Lack of proper school building
(C) Lack of motivation among students
(D) None of these

, t o t o  t o t o t o  -u m  ( t o  %  t o  ^Rcfk
U l t o  ^  3 tg E  I

t o l t o t o t o t(A) 3T __
C.(B) to to  to  toft.. ,
(C) W r %  <sfl̂ l > tol t o t o X  :

■’(D) : ' -;X
When a teacher explains any thought or 
fact to the students, it’s called 

% (A) Communication skill
(B) Teaching skill
(C) Demonstration *
(D) None of these
^  t o t  t o  t o t  fcpSTK rf22T

(A) °b) l̂d (B) f̂^T8rTUT cbWld
XC) (D) t o t t o t t o ?

99.

Seema learns every lesson very quickly 
but Lina takes longer to learn them-. This 
denotes principles of
(A) General to specific
(B) Interrelationship
(C) Individual differences ; . *•;
(D) Continuity

t o f t  t o  W  t o  ^  t o l  tsnto |
t o r ^ t o f t 1 1

to  , % 'lft^icfT totont i 
( A ^ j n ^  tf ^ T S  (B) t o # *  A
(C) oqftold to ?  (D) Rlid̂ cfI ;

If you wish to develop intellect of a 
student, which quality of his/her should 
be encouraged more ?
(A) Create a helpful' and fearless

■ environment ;
(B) Interference by parents and teachers
(C) Criticism by parents and teachers
(D) Create a strict atmosphere - X

to ;  to r  ̂  ̂  w n  t o t  t ,
to t o 5 t o  qyr tot s n to  ylctod t o r

? x
(A f  a f k .to  W W r  ^ n q ’ •
(B) Hldl-fHdl 3TB f̂ TSfT̂ t gRl 5'W t̂T 
■(C) W T - t o  3%  f e t o  ^RT 31 IdlvNI V

(D) ^  W  t o #  Wfig * ,  ** Vj‘a

100. ^ is rightly said to be the right

17

hand of the teacher as no teacher can 
think of teaching effectively without its 
use.. . X/V X- - ... . X = ' V.
(A) Globe (B) Maps
(C) Apparatus (D) Blackboard

tor itosrai .to torn iro toto
w i  t  t o l i t o  i t o s  t o t t o f t r  %

, t o  ^ r t o  w r  t  t o r  %  t o
t  I -

(A) to rr  ( t o )  (B) ^ rn to  3  
: (C).’44«bi«i- /

’ X ■■ n k p  ■'
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101. Who is considered as the most powerful 
Chola ruler ?
(A) Rajaraja I (B) Adityal
(C) Rajendra I . (D) Parantaka I

. . W& .sllrhsti kr() RHT ̂ flcTT | ?
(A) <N<N W T , (B)' 3T T f^W t

/ (C) Tl%3r«n? ; (DfVqrra^ W T .

102. By whom was the first picture of. Bharat 
; ; Mata made ? :

(A) Abanindranath Tagore
(B) Raja Ravi Verma
(C) NandalalBose
(D) None of these

w m  ? v  e ^  ’
(A) 7
(C) . (D)

103. ‘A.lamgirNaina’ is a history of which of 
. .the following Mughal emperors ?

(A) Aurahgzeb’s reign. .
• ‘ (B) Shah Jahan’s reign ; f .

(C) Jahangir’s reign
(D) Akbar’s reign

(A j .
(B) : :

’ (C) 3>T ?TRPf
. ; (D)
104. In which of the following annual session 

of . Congress was. Jawaharlal Nehru 
elected as President of Congress ?
(A) Haripura session, 1938
(B) Lahore session, 1929
(C) Bombay session, 1934
(D) Karachi session, 1931

Section-C/^TFT-^T
General Awareiiess 7 ilPTFT VslHlWhdl

105. Who was the founding President of 
. Congress Socialist Party ? •.

(A) P.C. Joshi ■ -7
(B) JaiprakashNarayan ; ;

: (C) Acharya Narendra Dev : 7 ;
(D) Ram Manohar Lohia • -

: Tftdm R T #  %  3TSJT8J
V ^ ? 7 ' ty " ; ^  VI- i. , ' ; :
7 , (A) tf/sft. tsM  (B) m m
.. i (C) 3in i4 ^ ^  (D).m TRlF.?ftf^

106. Which of: the following Mahajanpadas 
had capital Champa in ancient India ?
(A) Vajji (B) Kashi.
(C) Vaishali ; (D) Anga' 7 :7  ;■ ”

ArNffa . m a  7^ 3  % V%h

T O T lrft ■ ¥ : V

( A )  -  7 ( b ) ;  r .
(C) 7 (D) 3PT:

107. Which of the following is associated 
with the Gupta age of Indian history ?
(A) Visit of Chinese pilgrim Hiuen Tsang
(B) Macedonian invasion
(C) Significant' contribution”to, Indian)

- . astronomy by Aryabhatt : -
(D) Significant contribution to poetry by

Banabhatta . 7
‘ PlH^RsId 4  t  W W f k  ifd W  %

7  I p l f  ? w ,  »
; (Aj

(B) 3 m m
7 (C) 3Tl%f R̂T 4

108.

• ‘ #  ^ T ^ T T e T  ^  'b i i l t f
.. nA\ «it ? ; : ; 7  . ; 7 ' :

e'(A) lf% T 3T f^ R , 1938 
■ (By ^  1929 .
(C) 3TM?R, 1934 : : ;

>  (D) W ^  3 T f ^ R ,1 9 3 r  . :  ' {' , * |

' - N K P ' IS

(D) ^tq^I dKlThl^fl^ . ..

“The Rigveda includes more than a 
thousand hymns.” - By which name they 

. arc known as ? s*v V f
(A) Smrit (B) Kandak
(C) Mandala . ; (D) Sukta ^

1 3 ? f %  A  ^ r t e t i  ” 
^rnr #  ' '

(A) Tijd 7 ; . ( B / % ^  7V-
(C) W T  (D)

□  '

v 'V
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i09. The part of Himalayas, situated between 
Satluj and Kali River is known, as :
(A) Kumaon Himalayas .
(B) Nanda Himalayas
(C) Middle Himalayas
(D) Assam Himalayas

I
i

U u g T ^ f d l t l  |
(A) .^n^%nrRT (B) !

iC )  (D) 3R m ^ nw r |

110. Which one of the following statements is j 
not correct regarding Ladakh ? I
(A) Ladakh is a cold desert. !
(B) Ladakh is a Union territory of India. J
(G) Average, rain in Ladakh is 10 cm

per year. j
(D) The literacy rate of Ladakh is only j 

7.16%. ; . j

113. Which of the following is Khetri famous 
. f o r ? ’

(A) Aluminium (B) Fertilizers
(C) Gold (D) Copper

/  PlHf^Rsid^t^d^ RwA IcmSlRhSt ?

(A) (B) ,

(C^#TT (D) W

v'
114. Why India and its neighbouring 
' countries are together called the Indian

sub-continent ?
(A) vast size of the area '
(B) political dominance of India
(C) region’s aloofness from the rest of 

the world.
(D) typical economic links between the 

various member states
? |

. (A) vfW  \PtWM t  I |
(B) *11  ̂ %s! VnfrldAl l̂ | I . I
(C) dlRi>l ilRN«$ 1 0 M |  I |
(D ?  v f ^ ^ W ^ % ^ 7 . 1 6 %  t  I |

111. What .was. the former name of j 
Jamshedpur where “Tata Iron and Steel j
Company Limited” is situated ? |
(A) Sakchi (B) Bagchi

■(C) Salem (D) Bhadrawati
m  sn “ZRT 3TBRH I

^TKcl 3 ffr  cpflf fadleM .

. (A) fqijilc'i

(B)
(C) .

(D) f r f e  Ti^ft % frrftre

,5. In which of the following areas, is peaty 
soil found ?

(A) t ^ \  . (B) sfFBfr
(C) B^T (D) T̂̂ Tcft > J

112. With which one of the following rivers j 
is the Omkareshwar Project associated ? :
(A) Chambal (B) Tapi I
(C) Narmada (D) Bhima j

uftdMHI frF#rfecT 1 1  j
? - j

(A )*^ vr (B) cfffr ' .. j
(C) ^  (D) %TT I

(A) the Kashmir valley
(B) Madhya Pradesh
(C) Coastal area of Odisha
(D) Rajasthan

(A f d^4U MIcH ;  ;

■•(B)

(C) afrf^n % -crfhr '

(D)

3  19 NKP
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116. Which government agency is responsible j 
for the mapping and exploration of j 
minerals in India ? , ; , |
(A) Survey of India j
(B) Geological Survey of India •' . > j
(C) Minerals Development Corporation r
(D) School of Mines j
rere t  % s t r % j * 117 118

Tft TirelO fau)<K | ? j 

<A) WfkiT^^pJT, I

119. Which two forms of alcohol do we 
include in biofuels ?
(A) Propanol and Ethanol
(B) Methanol and Ethanol
(C) Propanol and Methanol
(D) None of these

IFT t  3Hv«bi5cl % eft to t  >̂t

. t o R f t o f  ?

(A) 3 rto ^ 3 fk t$ T O
(B) re to r  to sm

( C )  T l t o t o T T T t o T .  '

(D)

s
117. Which of the following area is declared 

as India’s first marine eco-serisitive zone 
by ‘The Ministry of Environment and 
Forests’ ? "  :•
(A) Gulf of Kutch
(B) Palk Strait
(C) Gulf of Khambhat
(D) Gulf of Mannar 
tofdfisid t o  t o  to  ofTt ‘q̂ IcRui
r e  t o w ’ ■girr t o  t o  T O n  rejsft 

r e t o - T t o t o t e r  t o  t o t o  t o T  w  I  ?

(A) ^ 5 ^ 1  t o t  (B) T O to to f

(B)

(C) t o t o  3Tfc -

(D )

i
120. Which of the following elements is 

responsible for groundwater pollution in 
various states ?
(A) Fluoride (B) Chlorine
(C) Sulphur (D) None of these 
t o f v f t o  t o  t o  TIT cire t o r e  Tire! t

%  t o ;  fa  t o i <  t  ?

(A) (B ) f to t o

(C) T O R  (D)

(C\ to rre to  t o l  (D) t o t  t o t  . j

' '■■■, - , - I
118. In which of. the following states Cold 1

Desert Biosphere Reserve is located ? j
(A) Uttarakhand j
(B) Jammu & Kashmir j
(C) Himachal Pradesh \
(D) Ladakh
t o  3  t  t o  u re  3  to r

/ t o ? t o r t  ? , |
(A) irTTito (B) j

(C )^ftoR r t o  (D) ]

121. Who wrote the famous book ‘ Aaj Bhi 
Khare Hain Talab’ (‘The ponds are still 
relevant’) ?
(A) Amritlal Vegad ;
(B) Raj endra Singh K JH
(C) Sopan Joshi FliiS 1
(D) Anupam Mishra

‘s r re  T f t t o  f  T O r e ’ ( ‘t o r

t o ^ t o t o f ’) t o t t o t t  ?

(A) 31^ddM t o  (B) Tito t o  •

. (C) T ito  to ft  ( D / a i f r e t o

NKP'- " ' -20. . >■’ " Q
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122. Who among the following is popularly j
topwn a s ‘Waterman of India’ ? j
(A) Kailash Satyarthi i
(B) Jadav Payeng
(C) Rajendra Singh j !
(D) Anupam Mishra |
fewfclfisid 3  t e  $  I

'did l| ? J
(A ^ d ld l (B) *\r<& Vlifo - |
(C) T T % %  J (D) 3gtTtT-f% |

123. Why carbon dioxide gas is primarily J 
called a greenhouse gas ?
(A) Traps heat . i
(B) Traps light j
(C) Traps warm currents . j
(D) None of these !
^ 1 $  j.

t  ? , j
. (A) T Fft^tteTTt i ;  I

(B| t e ^ ^ t e l T ' i  I ; j
(C) p r a t e  t e n  f  i J

(b) ; j

124., What does UNFCCC stand for ? j
(A) United Nations Framework Control j

on Climate Change j
(B) United Nations Framework | 

Convention on Climate Change
(C) United Nations Framework ! 

Communications on Climate Change J
(D) United Nations Framework Climate j 

Communications Council
^ T F T t^ te f ltf te w S T S ft ? |
(A) t e * r  j

j
(B) ^11^5 ^RT p t e  3TR j

, /  j
(U) < ^ 1 ^  te^T "̂Ud4> t e  I

ddlsAitef ' |

(D) t e n  ' t e t e  dd V $i [
j

!. Ms. Bachendri Pal had undertaken a 
unique expedition for focusing attention 

• on which of these ?
(A) The Girl Child
(B) One Nation One Family
(C) National Integration
(D) Spirit of Adventure

w $  t e  tc t e .  t e i
-ddldl m ?

(A) snid'hi , ’

(B) ( ;

(D)

i. Ali Akbar Khan was famous for playing 
which of the following; musical
instruments?
(A) Flute ; (B) Sitar
(C) Tabla (D) Sarod U
3Tvfl PlHfdfed t e  t e  t e .

(Afwrgd ; , (B) t e r

(C) cT̂ cTT (D) t e

'. Who was the first Indian to win The 
Booker Prize ?
(A) Dhan Gopal Mukherji
(B) Nirad C. Chaudhuri
(C) Arundhati Roy
(D) ; Aravind Adiga1

(A) £R%r?rg®*ff

(B) ’t e t  .

(C) °3 te c f tra '; .

* '  (D) 3 T t e 3 i t e

■■■■• /  :NKP-’
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128. In his ‘Tryst with Destiny’ speech, j 131. 
which onefrom the following said “The j 
ambition of the greatest man of our J 
generation has been to wipe every tear 
from every eye” ?
(A) Mahatma Gandhi 

* (B) Jawaharlal Nehru j ,
(C) Lala Lajpat Rai
(D) Sardar Patel I .

if I
$  Ito ^  t o l  %  “iRTfl ^  J 

N r h  ^  3 7 M  3  f T  I 1 3 2 -

■ (A) RflcTTTto (B)

(C) R1RT 'dNITd m  (D)

129. Who among the following was an Indian 
physicist kiiown as “The father of Fiber 
Optics” ?
(A) Sam Pitroda
(B) Dr. Vikram Sarabhai
(C) Narinder S. Kapany
(D) C. V. Raman
PlH^Rdd 3  t  P^v T̂Rcft̂ r s flto
t o t f  ^  t o  O T t o R  ^FT

e b ^ M Id l  |  ? ! ' :

■(A) tr r f q ^ r  (B)

(C) t o f t  (D) tft.tft. T*R •'

130. Name the founder of SEWA (Self 
Employed Women’s Association) who 
was awarded Padmabhushan.
(A) Ela ben Bhatt (B) Baba Amte
(G) Aruna Roy (D) Medha Patkar
t o  (S E W A -*< ?-to to  Trt%cTr t o )  ^

• . t o n W  F̂T RW P S l^ l $
ywHiPid t o i  w m  i 

(A) , . (B) t o , 3^
(C) 37W  t o  (D) t o P T ^

NKP ■ J ■.- - • 22

133.

134.

Who among the following has been 
honoured with the French government’s 
highest honour- Chevalier de l’Ordre des 
Arts et des award ?
(A) K.S. Chithra (B) Aruna Sairam 
(C) AshaBhonsle (D) Hariharan 
P in fe ife d  % t o r  p t o  %  t o t o
^PRR- t o t o  t  R ’3Tf| t o  3 0 ^  P ^ to  
3 ^ 7 < t o u | | f t d  t o  I J | i | | |  ?

(Aj %.PR. t o  (B) 3Ri«ll .«i|<W,
(C) sm \  *ftor (D) i t e r

Who among the following was the first 
from India to be awarded the prestigious 
Pritzker Prize ?
(A) Charles Correa
(B) Brinda Somaya
(C) B.V. Doshi
(D) Ganesh Deojalikar
t o f a t o  to to * rK cT %  P #  otrirF^; 
t o ?  ilfelted faodP* JVWiK ^  RUilfad
t o l P P m  ? ‘ ;
(A )j5ntopftto (B) to rto rM  
( C ) ^ t o t t o  , (D)

In which year Chittorgarh Fort has been 
designated under UNESCO ' World 
Heritage Site ?
t o t o f  p ft t o  t o  t o r

(A) 2013 (B) 2018
(C>2022 (D) 2023

Who is the author of Rajasthani book 
‘Alekhun Amba’, winner of Sahitya 
Akademi Award-2022 ?
(A) Jeevan Singh Manavi -
(B) Kamal Ranga
(C) Idan Singh Bhati
(D) Deendayal Sharma
w rlW  g^F^R-2022 ' t o n

3*eFF ‘3ntogP 3 7 to  % t o F
to p f  ?
(A) t o p  t o  t o t  ■ (B) w  w  
(C) 3iT&H t o ^ t ( D )  4lHd<Mld t o  .

a "
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135. Where is ‘Chaurasi Khambho ki chhatri’ j 139. Which dance form of Rajasthan is 
located? j included in Intangible Cultural Heritage
(A) Kota . '■ (B) Bundi : j. , list of UNESCO ?
(C) Jhalawar (D) Bhilwara j (A) Ghoomar (B) Kalbelia

t  ? j (C) Kachchi Ghori (D) Terah Taali
(A) eFfer ( B ) ^  | , TUf^TR 3T^

. (C) (D) i i w  | yi^fci'b f e r r e r a f  t  ? ■

-  I (A T W  " (B)
136. Where . was Rajasthan' Sewa Sangh 

established in year 1919 ?
(A) Jaipur (B) Jodhpur
(C) Wardha \ (D) Calcutta
T1TOR .^T m  ^IFRT «pf 1919 3  

' sft ?

(A) (B)

(C) (D) et>C1<*>Tll
' ;  e) . / \  ■ ■ ■ ; /  • .

137. The. stepwells which collect the
subterranean seepage of an upstream 
reservoir or lake in Jodhpur region are 
known as
(A) Talabs (Bj Bandhis
(C) Baoris (D) Jhalfas . .

RT fftcT%
fUl |cj'RfR oFl d 3l<rfl S||elf̂ 4l ^1
; : t  i

(A) cflcTFW (Bj RSfttf
(C) t m if ' (D) fTRRT .

/  (C) «t>̂ n (D) ^TrTTeft

140. What was the approved and installed 
capacity of Ranapratap Sagar Dam for 
hydroelectricity generation ?
(A) 172 MW (Mega watts)/
(B) 127 MW (Mega watts)
(C) 120 MW. (Mega Watts)
(D) 25 MW (Mega watts)
RR-'felpT 3?qr^T % TFlTSThiq M

(A) b172^TRR

(B) 121 ^ m z

(C) 120 >
• (D) 25 hhNId :/■ /  -/;

141. How many Lok Sabha seats belong to.
Rajasthan ? '

138. Who wats the first Governor of Rajasthan ?
(A) Gurumukh Nihal Singh. .
(B) Hukum Singh :
(C) Dr. Sampurnariand
(D) Raghukul Tilak 
T R7 ST R% $  ?

CA)

'(B j /
(C) t\.

j .... (A) 32 (B) 25
j V (C) 30 (D) 17 ’

J 142. Which city in Rajasthan was called 
j: “Island of Glory” by Dr. C. V. Raman ?
i : (A) Ajmer (B) Udaipur
• (C) Jaipur .(D) Kota ^

'ST. T*R  t  T N R R R .%  ^  ‘

I ‘<7ffaR RTT (Island of Glory) T̂T ?

! ■ ( Ay. ^sr a^t

. (D) | (C) (D)

□  - . . .  . 23 '  ■'  ■ ;n k r , t -
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143. Which Indian Mega city scored the j 147. 
highest in the “Ease of Moving Index 
(EoMI) India Report 2022” ? 1
(A) Surat (B) Lucknow
(C) Kanpur (D) Pune
t o  w  ^

(fafiwTTf) if^rr 2022”

( A ) W
(C) W ig*

(B)

(D)3»t

(D) ^

144. In which city did PM Modi inaugurate
* % India’s first water metro ?

(A) Kolkata (B) Pune
(C) Kochi (D) Bhubaneswar

. WFRsft ^Krf ^T W ft
«FT 'a^lT^ f^TT ?

(A) ^d^Tcn . (B ) " ^
(C) (D) ^cj^eR

145. Where is the ‘G20 Space Economy
Leaders Meeting’ organized in India ? 
(A) Shillong (B). Jodhpur
(C) Bikaner (D) Bengaluru
*TM f  ‘G20

ebgtlWl 0411  ?

. (A  ̂ 'f̂ vfrT (6 ) ,
(C) «fl«hl̂ K (D)

146. On which country’s proposal ‘The 
United, Nations General Assembly’ 
(LJNGA) declared the year 2023 as ‘The 
International. Year of Millets’, which 
was supported by 72 countries ?
(A) India (B) Russia

: (C) Nepal / (D) USA
. iW  W  % m  *Tg t o w t ’

(UNGA) ^ ^  2023 ‘aidtfgto 4M<I 
%M\, M 7 2 ^ l f ^ r ^ # T  JTH SIT ? 

(A) STKcf ■

(Cj

At the Global Education & Training 
Exhibition, which, country’s Pavilion 
was inaugurated in Dubai ?
(A) Indonesia (B) India
(G) Singapore (D) Norway

3  î T̂ rT W  3

I^TT W  ? ..
(Â j (B)^KcT
(C) ftFTig* * (D)

148. of , Rajasthan 
, Badhat.

Complete the theme 
Budget-2023 : Bachat, _
(A) Ghatat , (B) Aavak 
(C) Samriddhi (D) Rahat 
TrsflFSIR ^tjtz-2023 sflR /;
WcRT, ■ I

W  (B)
(D) TIW

149. Which of the following film has won the 
Oscar Award in documentary short film 
category recently ?
(A) Fire of Love
(B) RRR
(Cj The Elephant Whisperers .
(D) Everything Everywhere
PinRrlRsid ^ ( W h % ^
dy h<rH M  3  3m*h< g<*4>l< Uld1| ?
(A) . ... . .
(B) 3TR3TR3TR
(Q  ^
(D) X^OflfTTP^t^n:

150. Which country’s High Commission 
■announces its Government grant for a 
project in Kargil in India ?
(A) Australia (B) Japan
(Cj Russia (D) Germany
f W  W  % <Jt=I 141JI % Wrf 3  
TfefkRT % W k t  W
kij-«|U||
(A)'3m|fyRTT (B) WTTR

(C) W . (D)
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Section-D / T̂FT-̂
English/

151, Fill in the blank with the correct option: |.
No sooner did he go in, . / • she. |

159.

came out.
(A) than ' (B) then
(C) when (D) and

Change into passive voice -  
‘My uncle promised me a present. ’
(A) I ■ was promised a present by my; 

. uncle.
(B) I was promised by; my uncle a

: present. , -
152. Fill in the blank with the correct option : j 

The thief ran away _ _ _ _ _ _  he should
be caught. . .
(A) lest (B) but
(C) unless (D) otherwise

153. Fill ip the blank with the correct option : j
We should, abide ' the rules of j
the Institution. ’ j
(A) with ; (B) by j
(C) to: \ (D) on ' |

« ' ' , • j
154. The nearest word that express the j 

meaning ofPLACID-
(A) Clear (B) Enjoyable
(C) Dull (D) Calm

155. The nearest word that express ' the 
meaning of SLANDER-
(A) Fame (B) Approve
(C) Defame (D) Applaud

156. The father said to the daughter, ‘Your
teacher • punish you if you
misbehave.’
(A) has to (B) should ■
(C) may (D) must

157. _ _ _ _ _  you are poof, you are honest.
(A) For (B) Since
(C) Though /  (D) Yet

(C) I had been promised a present by 
my uncle.

(D) A present was promised by my 
uncle to me.

160. Change into active voice -
The Hunchback was being laughed at by 
everyone. ; • ■
(A) Everyone was laughing at the 

Hunchback.
. (B) Everyone laughed at the

Hunchback.
■(C), Everyone laughs at the Hunchback.

. (D) Everyone is laughing at the 
Hunchback.

161. Use the correct form of the future tense 
of the verb given in the bracket-
You : French during the next
month, (learn) ...............

■ (A) will be leaming(B) will learning 
(C) shall learning. (D) are learning

162. They - ’ ■ their dinner tomorrow at
this time.
(A) will have (B) haying 
(C) will • . (D) will be having

163. Fill in the blank with suitable question
. tag : ..

We can help the needy,
(A ), can’t we ? (B) do we ?
(C) shall we ? (D) should we ?

158. Select the word that is used for the . 154, pill in the blank with suitable question' 
‘Study of mankind’ : ' tag:
(A) Physiology I After the continuous rain yesterday, it
(B) Pathology | : was cold last night, ' , :
(C) Anatomy I . I (A) w asit7 (B) is i t? ( K J S
(D) Anthropology | .-(Q wasn’t it? (D) didh’t it ?EauBe

Q: . ' 25 ' NICP '
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165. The meaning of the phrase, ‘A red letter j,
‘ /  day’ is : V „ * J

. (A) A dangerous day j
(B) A pleasant and memorable day j
(C) A very bad day . |
(D) An unimportant day |

166. The meaning of the phrase, ‘Four j
corners of the earth’ is : I
(A) From morning till night J
(B) From beginning to end. j

. (C) From all parts of the world < |
(D) From the very beginning j

167. Fill in the blank with suitable preposition: j 
My mother has been teaching in this I
college ______ the last fifteen years. j
(A) from (B) since j
(C) in (D) for j

v - j
168. Fill in the blank with suitable preposition: s

She, has not read anything _ _ _ _ _  
Monday. I
(A) since (B) for j
(C) from (D) over j

173. Which is the suffix: appropriate for 
‘relative’ ?
(A) ness (B) tion - :
(C) ance (D) ity .

174. Give antonym for the given Word — ■ 
Adversity

, (A) calamity , (B) misfortune 
(C) good fortune (D) diversity

175. Give antonym for the given word -  
Transient
(A) long lasting (B) transitory
(C) temporal (D) transition

176. Choose the correct option to fill in the
blank: '
If you had let me know earlier, I - 

. have been able to come.
(A) will \ . (B) shall v .
(C) could • (D) would

177. Choose the correct option to fill in the
blank : ' - •
You look very pale, I think you ■■ ;

: go to the doctor. : .
(A) will (B) shall
(C) should (D) would

178. Change the following simple sentence to

169. Which prefix is found in transport ?
(A) Tra
(B) Tran , ■
(C) Trans
(D) None of these

a compound sentence:
Besides being rude, he was also 
arrogant. ■ .
(A) He was rude and arrogant.
(B) He was not only rude but also 

arrogant.

170. Which 
counter ? 
(A) Un 
(C) Im

prefix would be attached to |

(B) In 
(D) En

171. Which prefix 
‘agree’ ?
(A) Non 

Un

172,

would be attached to

(B) Dis 
(D) In

Which of the following has ‘ -ant’ suffix ?; 
(A) coolant (B) vibrant .
(C) pant (D) dant

(C) He was not only arrogant but also.,
rude. IK

(D) He was being rude and arrogant. **
179. Choose the correct option to fill in the 

blank:
An airplane flies than bird.
(A) more fast (B) faster
(C) fast (D) fastest

180. Choose the correct option to fill in the 
blank:
You should not use mobile___you are
crossing the road.
(A) while (B) as ’
(C) where (D) but
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181. ‘A person who does not make any 
mistake’ is called ■■ .
(A) Intestate (B) Agnostic
(C) Infallible (D) Fatalist

182. What does the word “yell” mean ? 

(A) make (B) Shout

(C) jump (D) deliver

Read the Following passage and answer the 
Questions given.below : (Q. Nos. 182-186)

New Year’s Day officially begins as 
soon as people yell “Happy New Year” at 
midnight. Most people continue! partying well 
after midnight into the wee hours of the first 

: day of the new year. In fact, many New Year’s 
parties include breakfast or brunch. Sometimes 
at the ■ stroke of midnight there will be 
fireworks and couples often kiss. One of the j 
most famous New Year’s celebrations takes | 
place in New York City’s Time. Square, where j 
a huge cut crystal ball drops at midnight in j 
front of millions of people standing in the J 
cold. Many more millions watch on television. J 
Some groups, called Polar Bear Clubs, jump j 
into the cold ocean water on New Year’s Day j 
as a literal way to start the new year fresh. j 

New Year’s Day, January 1, is a national j 
holiday in the United States. This means, that j 
schools, banks, government offices and post j 
offices are closed. Given how much people j 
tend to drink alcohol on New Year’s Eve, j 
many people wake up on New Year’s Day j 
with a hangover. The national holiday is a j 
good day , to recover. Many people go out ) 
partying with their friends on New Year’s Eve; j 
many people use New Year’s Day to visit j 
family members. New Year’s Day is also j 
when many people start on their New Year’s j 
resolutions. A resolution is a promise to j 
change a lifestyle habit. The most common j 
resolution is to lose weight. Many people also J 
join gyms *as part of their resolutions.

183. Wee hours means

(A) hours of late night

(B) hours of early morning

(C) hours of midnight

(D) hours, from midnight till early 
morning

184. A resolution means ■ ' - in this
paragraph.

(A) a complete change in life

(B) changing only one habit

; (C) changing the whole lifestyle:

(D) a promise to change only one habit

■185. According to the passage, what is the 
most common resolution that people 
take ?

(A) consume alcohol 

,(B) party,

(C) dancing 

: (D) lose weight

186. In which of the following cities of USA, 
one of the most famous New Year’s 
celebrations takes place ? ^

(A) Washington

(B) New York

(C) Detroit
(D) San Francisco

□  - •' 27 ' - NKP



187* Replace the underlined part of the j 194. From the options that follow,, choose the
sentence with one word from the options correct indirect speech of the given
that follow : ' sentence :
Her handwriting is difficult____or j Rohan said tome, “Where are you going
impossible to read. j , for the vacation ?”
(A) legible (B) eligible j (A) Rohan asked me where I was going
(C) illegible (D) ineligible j for the vacation.

188. Replace the underlined part of the j
f sentence with one word from the options j

that follow : !
7 Shobhit is a person who always looks at | 

the bright side of things j
(A) illiterate / (B) optimist 
(C) pessimist (D) theist |

189. Choose the correct article from the | 
options below to fill in the blank : . !

• "Hiey r visited , - ; , college j
recommended by their teacher for j 
admission. I
(A) zero article (B) a j
(C) ail - (D) the J

190. Choose the correct article from the ’ j 
options below to fill in the blank : I

; Lisa wanted to hear _ _ _ _ _ _  end of the j
novel. j
(A) zero article (B) a . /

■; (C) an (D) the / . : |

191. Choose the correct option to fill in the . 1
blank: ’ ;  ̂ , j
The prices of all these articles }
increased in the last two. years. . J

; (A) has (B) are J
(C) have: / (D) was

192.. Choose the correct option to fill in the 
blank:
Are you looking forward Nitin J
again ?

V (A) to meet (B) meeting j
, (C) to meeting (D) to be meeting j

193. From the options that follow, choose the j
- correct indirect speech of the given j 

sentence:
. She said, “Qil floats on water.” j

(A) She says that oil has floated on water1.
■ (B) She said that oil floats on water. j

(C) She said that oil floated on water. j 
r (D) She said that oil has floated on water.

(B) Rohan said that where I was going 
for the vacation.

(C) Rohan asked me that where I was 
going for the vacation. .

(D) Rohan asked me that where I had 
been going for the vacation.

195. Choose the correct determiner from the 
given options to fill in the blank :

; There are ___ books in the library.
(A) every (B) a great deal of
(C) much (D) a lot of

196. Choose the correct determiner from the 
given options to fill in the blank :
Vivek thinks he probably does th e__ ^
work in the office.
(A) hardly (B) few
(C) least > (D) many

197. Choose the correct verb form from the 
options given below:
Defence
(A) defend (B) defender
(C) defensive (D) defense

198. Identify the coirect pattern of the given 
sentence:
I know his address.
(A) SVOC = (B) SVO

f (C) SVOA (D) SVC
199. Choose the correct exclamatory form of 

. . the given sentence from the following
options: ’ /
It is a horrible night. Firtf

 ̂ (A) What a horrible night it is!
(B) What night is horrible!
(C) It is indeed a night of horrors!
(D) None of these

200. Fill in the blank with the correct option :
You are going to be late today, you 
_____ _ better hurry up.

. (A) are (B) has ..
(C) have (D) had
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